Name __________________________ 

Study Sheet: Meiosis

Define the following terms. DO NOT USE THE GLOSSARY!!!!!!

1. haploid (p. 269)

2. diploid (p. 269)

3. allele (p. 269)

4. homologous chromosome (p. 270)

5. meiosis (p. 271)

6. gamete (p. 271)

7. sperm (p. 271)

8. egg (p. 271)

9. zygote (p. 271)

10. crossing over (p. 272)

11. nondisjunction (p. 279)

Questions to Answer

12. Name the phases of meiosis and describe the key events that happen in each phase. (pp. 272-275)

a. ___________________________________________________________________________________________________

b. ___________________________________________________________________________________________________

c. ___________________________________________________________________________________________________

d. ___________________________________________________________________________________________________

e. ___________________________________________________________________________________________________

f. ___________________________________________________________________________________________________

g. ___________________________________________________________________________________________________

h. ___________________________________________________________________________________________________

13. What two key events occur in meiosis but not in mitosis? (pp. 272-274)

14. Why is meiosis II sometimes called the mitosis of sex-cell division?

15. Meiosis begins with a diploid cell and ends producing ____________ haploid cells.

16. What type of cell division results in the formation of diploid cells?

17. What types of cells have a haploid number of chromosomes?

18. In human body cells, 2n= 46.  How many chromosomes would you expect to find in a sperm cell? __________ an egg cell? _________  a cell in your finger? ___________

19. A cell undergoing mitotic division results in the formation of how many cells? _____________

20. A cell undergoing meiotic division results in the formation of how many cells? _____________

21. An organism has 4 pairs of chromosomes.  One of its cells undergoes meiosis.  How many chromosomes would the new cells contain? _________

22. An organism has 4 pairs of chromosomes.  One of its cells undergoes mitosis.  How many chromosomes would the new cells contain? _________

23. Would the cells in your big toe be haploid or diploid?

24. The human egg is thousands of times larger than the human sperm, yet a child inherits equally from both parents.  Explain how this is possible.

25. Why is meiosis necessary for sexual reproduction?

